Chapter 5
In-Class Review

Terminologyldefinitions - Matching
Chapter 5 Practice Test: page 202 - 203, #1 -15
Additional selected problems



Terminology/Definitions — Matching

A o

Algebra

F

Binomial D

Degree of a polynomial C‘.':"
Degree of a term B

Like terms
Menomial

Polynomial H

——

A
-

Term _'||_

Trinomial

=

A. Terms that differ only by their numerical coefficient

B. The sum of the exponents on the variables in a term

C. 1term

D. 2 terms

E. 3 terms

F. A branch of mathematics that uses symbols to represent
unknown numbers of guantities.

G. The degree of the highest degree term in a polynomial

H. An algebraic expression made up of terms connected by
the operations of addition or subtraction.

I. An expression formed from the product of numbers and/or
variables.



1. Which polynomial is of degree 12
‘ B xy— 1

C 5x — 3xvy D x*—S5x+2

2. Which expression does not have zero as a
constant term:?

A —5x

C yr—2y D ab+b—c




3, Which of the following is not equivalent

mﬁx—:?-l—l—?x?_ — ---Lf)(_._.__g
A —4x — 3

B 3vx—"x—3+42

WL
]

D

- |




4. Which set of diagrams represents
3x — 2xt 4+ 12
i ————————

A




5. Which cxpression is a trinomial?
A abdl
B Jmn

C ef+g°

D -1 —x+4¢

6. Which expression is the opposite of
—2kt 4 3k — 12 T
A —1 — 3k + 2k

C 1-—3k-2F
D —1— 3k — 2k



7. When you combine like terms, the
Expressiﬂn(ltl)& 51— 8!% 4)|7ELIU]']']E5

8. In the monomial —g?, the value of the
coefficient is W

~ |



9. Draw a diagram to represent x* — 2x.

1




10. Create a single polvnomial with
* TWO rerms
* two variables
* degree 2
® A constant rerm

><\/+3



11. What is an expression, in simplest form,
for the perimeter of the triangle?

3 3)
(2§ 1)

Ix -0

(x



12. Write an expression to represent what the
diagrams show. Then, simplifv.

. N

Q\'K"%)‘/\ ;#3)(4\)

N == 30
=X - Hx-2




13. Simplity. Use models tor at least one of the
expressions. Show your work.

a) (2x*—8x+ 1)+ (9% +4x —1)
b) (4 — 6w) — (3 — Sw)

G_? 2?‘8ﬁ+—l
X 4% - |




13. Simplity. Use models tor at least one of the
expressions. Show your work.

a) (2x*—8x+ 1)+ (9% +4x —1)
b) (4 — 61) —3—S8u)
TE3+8wW)

2) (4 bw)= 2 R00)

= 2W |



14. The number of peanuts two squirrels bury
can be represented by 4 4+ 7 and Sn — 1,
respectively.

a) Write and simplify an expression for the
number of peanuts both squirrels bury.

40 +5011-L = In+b

b) What could the expression

(51— 1) — (4m + 7) represent?
How m Bre, oty Bre S 'rcibmealww

-0 ‘1"}'*-1'1 % E%EPTH _ %‘Mﬁ

¢) What is a simpler expression for
{5?1‘ — 1) ===

T Hn-17)

= - %




15. The cost for a birthday party at Big Fun Bowling
15 $100 for up to ten children, plus $35 per pair
of howling shoes. To rent the party room, the
cost 15 520, plus $4 per child for preza.

a) What 1s an expression for the cost of N = * 5( Mfi—“"-‘-‘“—"
bowling for up to ten children? | D

bl What 15 an expression for the cost of pizza

in the party room for up to ten children? Q O+ L*[‘ o

¢} Whar is a simplified expression for the

total cost of up to ten children going 9 + f 2
bowling and having pizza in the party Fu O

roOm?



d) Estimate, then calculate, the cost of
(=) _nine children going bowling and

having pizza in the party room.

Use your expression from
part c) l

C}n#—}ao

WD+ 130
= Ql+/20= 8201



For each of the following polynomials, simplify and write in descending
degree (if necessary) and then classify and state the degree of the
polynomial:

a) (4X)- 5 & 6x)- X2+ 1 b) -7ab + 4

X 410 x - H dﬂcﬁml binomial
dege 2 Irinomial
c)(9a2k 3a)-T# 4a) d) 6-5n+7m

A +Ta~T Tm-5n+b
laopeg ‘f‘i"mﬂﬂéﬂ& degres | ‘frinmﬁitq,Q
e) -b? f) 15

cﬁ?ﬁul A memamual] Jooper O moviemial)



If the perimeter of this triangle Is
18x? - 2x + 3, find the expression
that represents the unknown side:

/\@ I7x1+><—-dz,

2L

[Gx~ 2Ax 4+
tWK"—- X+ G
X*-3x+9]
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